SCN. La moitié de … ou diviser par 2
Je retiens
20 : 2 = 10

40 : 2 = 20

60 : 2 = 30

80 : 2 = 40

100 : 2 = 50


As-tu retenu ?  Voyons voir….  Essaie de ne pas regarder au-dessus…..




Et si on ajoutait des unités ?


As-tu retenu ?  Voyons voir….  Essaie de ne pas regarder au-dessus…..





Exerçons-nous

10   5





             : 2





   100


  300


  500


  700


  900


  











             : 2





   200


  400


  600


  800


1000


  











             : 2





   10


  30


  50


  70


  90


  











             : 2





   20


  40


  60


  80


100


  











20   5





50 : 2 = 25


40  10


	:2


10    5





30 : 2 = 15


20  10


	:2


10    5





70 : 2 = 35





	:2


10    5





90 : 2 = 45





	:2


10    5

















10   3





26 : 2 = 13


20    6


	:2


10    5











   42 : 2 = 





	:2


10    5











   68 : 2 = 


60    8


	:2


10    5











   84 : 2 = 





	:2


10    5











96 : 2 = 29





	:2


10    5











72 : 2 = 29





	:2


10    5





25   4





58 : 2 = 29


50   8


	:2


10    5





15   2





34 : 2 = 17


30   4


	:2


10    5





             : 2





   160


  340


  520


  780


  940


  











             : 2





   280


  420


  660


  840


1400


  











             : 2





  18


  34


  52


  76


  98


  











             : 2





   28


  46


  64


  82


108


  











             : 2





   24


  48


  62


  86


102


  











             : 2





  16


  32


  58


  74


  96


  











             : 2





   220


  460


  640


  880


1200


  











             : 2





   120


  380


  540


  760


  980


  














